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1. The word ‘claustrophobia’ means
(A) fear of darkness
(B} fear of crowds
(C) fear of confined spaces
(D) fear of water

2. Fill in the blank with the suitable option:

She from the bus and walked to
the back-gate.

{A) boarded
(B) stepped
(C) moved
(D) alighted

3. To feel ‘under the weather’ means
(A) feel depressed
(B) feel uncomfortable
(C) feel unwell
(D) feel uncertain

4. The word vicissitude means
(A) change
(B) stagnation
(C) uniformity
(D) stability

5. The synonym of supercilious is
(A) officions
(B} superficial
{(C) delicious
(D) haughty

6. The word ‘officious’ means
(A) self-important
{B) official
(C) serious
(D) enterprising

C-2

7. Fillinthe blank with the suitable preposition:
He presided the meeting.

(A) over

(B) at

(C) in

(D) for

8. Selectthe correct answerto fill in the blank.
The ship, with its crew,
(A) were
(B) was
(C) were getting
(12} was being

lost.

9. A place where bees are kept —
(A) Aviary
(B} Abattoir
(C) Granary
(D) Apiary

10. Select the correct spelling:
(A} Accommodition
(B} Accommodation
(C) Accomodation
(I} Acommodation

11. Add a suitable prefix to form the opposite
of the word ‘capable’,

(A) Uncapable
(B) Noncapable
(C) Ill-capable
(D) Incapable

12. The expression ‘holier than thou’ means
(A) pure
(B) religious
(C) moralistic
(D) sanctimonious

13, The idiomatic expression ‘make both ends
meet’ means

(A) get by

(B) get over
(C) get done
(D) get well



14. The idiomatic expression, once in a blue
Mmoon, means

(A) rarely
(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird is
(A) Normal
(B) Casual W
{C) Tired
(D} Worried

16. Convert the given sentence into an
interrogative sentence:

I will meet you tomorrow,

(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?

(D} When will you meet me?

17. Fill in with a suitable preposition:
He is taller than you
(A) with
(B) of
(C) in
(D) by

two inches,

18. The antonym of the word superficial is
(A) Deep
(B) Artificial
(Cy Apparent
(D) True

19. The past tense of rewind is
(&) rewinded
(B) rewounded
(C) rewound
(D) None of the above
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20. The serenity of the place overwhelmed me.

Replace the underlined word with a suitable
word.

{A) Noiselessness
{B) Calmness
(C) Isolation
(D} Seclusion

21. Choose the right option:
While 1 in the library, someone
threw a ball through the window.
(A) was sitting
(B) was seated
(C) had been sitting
(D) am sitting

22, Whichis the correct sentence?

(A) Anone-eyed person was seen roaming
about the streets.

(B) A one-eyed person was seen roaming
about the streets,

(C) Theoneeyed person wasseenroaming
about the streets.

(D) One-eyed person was seen roaming
about the streets.

23. ‘La Gioconda’ (Mona Lisa) is
unigque work of art.
Fill in the blank with the suitable article.
(A) the
{B) an
(C) a
(D) this

24. Fill in the blank with the right option:
He was offended
(A) at
(B) for
(C) with
(D) towards

me unjustly.

25. Choose the right word for love of oneself.
{A) Hedonism
(B) Masochism
{(C) Narcissism
(D) Sadism
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26. The following state is the highest producer
of tin in India :
{A) Rajasthan
(B} Odisha
{C) Jharkhand
{D) Chhattisgarh

27. Sandhyakar Nandi was the court poet of the
(A) Mauryas
(B) Senas
(C) Hussain Shahis
(D) Palas

28. Which Sultan was not a slave hefore he
ascended the throne?

(A) Qutub-ud-din Aibak
(B) Htutmish

(C) Alauddin Khilji

(D} Balban

29. The ChiefJustice of High Court is appointed
by the

(A) Prime Minister

{B) President

(C) Chief Justice of the Supreme Court
(D) Cabinet

30. Who coined the slogan *Swaraj is my birth
right'?
(A) Vinayak Damodar Savarkar
(B) Vasudev Balwant Phadke
(C) Bal Gangadhar Tilak
(D) Balkrishna Chapekar
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31. Ratioofthe rms speed and the most probable
speed for molecules in an ideal gas is

(A) V3:1
(B) 1:v3
(C) V3:42
D) v2:43

32. The Valley of Kashmiris located in between
the following ranges :

(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

33. The velocity ratio of the hour hand and
minute hand of a clock is
(A) 1:12
(B) 12:1
(C) 24:1
(D} 1:24

34. The leaderof the Narmada Bachao Andelont
is
(A) Anna Hajare
(B) Medha Patker
(C) Ramdev
(D) Binayak Sen

35. Which was the first incident of a British
official’s assassination after the revolt of 18577

(A) Assassinationof B ritish official W.C.
Rand by Chapekar Brothers

(B) Assassinationof British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru

(C) Assassination of William Hutt Curzon
Wiyllie by Madan Lal Dhingra

(D) Assassination of British police officer
Jackson by Anant Laxman Kanhere
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36. Vikramsila Bihara was founded by
{A) Devapala
(B) Dharmapala
(C) Rampala
(D} Sasanka

37. Who said.”An eye for an eye will make the

whole world blind™?
(A) Martin Luther King
(B) M. K. Gandhi
(C) Nelson Mandela
(D) Karl Marx

38. Siachen glacier is located in the following
range :

(A) Karakoram
(B) Zaskar
(C) Pir Panjal
(D) Shiwalik

39. The Nobel Prize in Literature 2020 was
awarded to

(A) Louise Gliick
(B} John Dranow
{C) Peter Handke
(D) Peter Ackroyd

40. Which Bengal poet composed the song

‘Ban eshechhe mora gange’ during the Partition of
Bengal?

(A) Rabindranath Tagore
(B} Lalan Fakir

(C) Kazi Nazrul Islam
(D) Mukunda Das
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41, Sabooj-Sathi is a scheme for distribution of
Bicycles to students of Government/Government
Aided Schools/Madrasahs reading in

(A) Classes INto X
(B} Classes X to X1
(C) Classes XI to XII
(D) Classes IX to XII

42. Which animal was part of the symbol of
Netaji’s INA Flag?
{A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

43. Pure silicon at 0 K is
(A) semiconductor
(B) metal
(C) insulator
(D) superconductor

44. Which is the Direct Tax in India?
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

45. Nameof thesupercyclone “Yaas’, was given
by
(A) India
(B) Oman
(C) Sri Lanka
(D) Bangladesh
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46. Badland topography is an important

characteristic of the following region :
{A) Gulf of Kutch
(B) Sundarban Delta
(C) Konkan Coast
(D) Chambal Valley

47, What was the ‘Eka Movement'?
(A) A Religious movement
(B) A Peasant movement

(C) A Secret revolutionary movement
(D} None of the above

48. Which among the following novels of

Sarat Chandra vividly reflected the revolutionary
movement of India?

(A) Snkanta

(B} Pather Dabi

(C) Palli Samaj

(D) None of the above

49. The power of a lens is +2-0D. The focal
length of the lens and its natute are

(A) 50 cm, concave
(B) 50 cm, convex
(C) 100 em, convex
(D) 100 c¢m, concave

50. The spectrum of color in
(CD) is due to

(A) Refraction
(B) Reflection
(C) Diffraction
(D) Polarization

Compact Disc
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51. JosephRobinette Biden Jr., the 46th President
of the USA belongs to the political party named

(A) Republican Party
(B) Labour Party

{C) Democratic Party
(D} Nationalist Party

52. Although the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation.

(B) England won SuperOverby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.

53. According to WHO, the official name of the
virus responsible for Covid-19 disease is
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) Corona Virus

54. The boundary ling of Sundarban was
demarcated by

(A) Hamilton Saheb

(B) Major William Tolly
(C) Scott

(D) Dampier and Hodges

55. Who founded the Asiatic Society In
Calcutta?
(A) Alexander Cuaningham
(B) John Stuart Mill
(C) William Jones
(D) David Hare
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56. Who wrote Amuktamalyada?
(A} Rajaraja Chola
(B) Harshavardhana
(C) DevaRaya
(D) Krishnadeva Raya

57. Who is the present Chief Election
Commissioner of India (as of June, 2021)?

(A) Anil Chauhan
(B} Sushil Chandra
(C) Sunil Chandra
(D} Anil Malhotra

58. Under which amendment of the Indian
Constitution the voting age reduced to 18 from 21 ?
(A) 60th

(B) 62nd

(C) 61st

(D) 63rd

59. Article 18 of the Indian Constituticn
guarantees the right to

(A) Equality

(B) Freedom

(C) Freedom of Religion

(D) Right to Constitutional Remedies

60. Who has been named the captain of the

Indian Men's Hockey Team for the Tokyo
Olympics?

(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh

(D) Birendra Lakra
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61. Family Income Ceiling for Kanyashree
Scheme is not applicable if

(A) the girl is physically challenged.
(B) the girl is an inmate of 11 Home.
(C) the girl has lost both parents.
(D} All of the above

62. Money Bill is finally determined by
(A} Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

63, Khajuraho, the City of the Gods™ a
UNESCO World Heritage Site, the name of which
was first referred in the 11th century CE by

{A) Ibn Battuta

(B) Ibn Sina

{C) Abu Rihan Alberuni
(D) Omar Khayyam

64. Bengal Revolutionaries were largely
inspired by which Revolutionary movements of
Great Britain?

(A} Scottish

(B) Trish

{C) Welsh

(D) None of the above

65. ‘Perseverance’ rover was successfully
landed by NASA on the surface of

(A) the Moon
(B) the Mars
(C) the Jupiter
(D) the Sun
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66. What is the limit of the Annual turnover for
small enterprises?

(A) 5 crores to 75 crores rupees

(B) less than 5 crores rupees

(C) Between 75 to 150 crores rupees
(D) Between 150 to 200 crores rupees

67. Who was the Mughal emperor during the
Revolt of 18577

(A) Aurangzeb

(B) Mir Qasim

(C) Bahadur Shah IT
(D} Sarfaraz Khan

68. The Sundarban is declared as ‘Ramsar site’
in
(A) 1987
(B) 1972
(C) 2018
(Dy 2019

69. Who is the custodian of the Indian
Constitution?

{A) President
(B) Vice-President
(C) Parliament
(D) Supreme Court

70. ‘Dandi March’ had inaugurated which
movement?

(A) Swadeshi-Boycott Movement
(B) Non-cooperation Movement
(C) Civil Disobedience Movement
(D) Quit India Movement
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71. Which part of the world was the agenda of
Khilafat movement involved with?

(A) India
(B) Arab
(C) Iran
(D) Turkey

72. ‘Letters from Burma’' is a book of essays
penned by
(A) Aung San Suu Kyi
(B) Rashbehari Bose
(C) Sarat Chandra Chattopadhyay
(D) Subhas Chandra Bose

73. In terms of thermal conductivity (k) and
electrical conductivity (8), diamond has
(A) low k and high 8
(B) high k and low &
(C) high k and high &
(D) low k and low &

74. When was the University of Calcutta
established?
(A} 1911
(B) 1817
(C) 1854
(D) 1837

75. Who was known as the ‘Sher-i-Bangal’?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah
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76. The highest peak of the Eastern Ghats is
(A) Mahendragiri
(B) Nilgiri
(C) Jindhagada
(D} Anaimudi

77. NRC is now in form of a
(A) Draft
(B} Bill
(C) Act
(D) None of the above

78. ‘Chipko Andolon’ is known as
(A) Feminist Movement
(B} Tribal Movement
(C} Political Movement
(D) Caste Movement

79. Which Medieval ruler introduced Alns-i-
Dahsala?

{A) Balban

(B) Feroz Tughlag
(C) Sher Shah
(D)} Akbar

80. Neeti Ayog was formed on
(A) January 1, 2015
(B) January 1, 2016
(C) January 1, 2017
(D) January 1, 2018
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81. Which revolutionary leader made ‘mercy
petitions’ from jail?
(A V.D. Savarkar
{(B) B. G. Tilak
(C) Sukhdev Thapar
(D) Chandra Shekhar Azad

82. Who propagated the ‘safety valve theory’
and about which organization?

(A) A. O. Hume, about Indian National
Congress

(B) Lord Dufferin
Association

(C) Charles Tegart for Zamindari
Association

(D) Lord Macaulay for British-India
League

about Indian

83. The Asiad Gold Medalist Boxer passed
away recently at the age of 42, Who is he/she?

(A) Pooja Rani

(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

84. Khutba was
(A) asermon readin the name of the ruler
at Friday prayers.
(B) aroyal order.
(C) areligious decree.
(D) atax.

85, The largest glacier of India is
(A) Pindari
(B) Gangotri
(C) Siachen
(D) Hispar
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86. Mica producing district of West Bengal is

{A) Bankura

(B) Paschim Bardhaman
{C) Birbhum

(D} Purulia

87. Who wrote Ramcharitmanas?
{A) Harisena
(B) Harshavardhana
(C) Tulsidas
(D) Joydev

88. A battery consists of 10 cells, each of emf

1V.If 2 cells are wrongly connected, the emf of the
battery becomes

(A) 8V
(B) 10V
(C) 6V
(D) 12V

89. The following river divides West Bengal
and Assam :

(A) Raidak
(B) Sankosh
(C) Kaljani
(D) Chel

90. Which Turkish Sultan introduced the Iqta
system?

(A) Alauddin Khilji
(B) Balban
(C) Itutmish
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91. Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh
{C) Dwijendralal Roy
(D) Dinabandhuo Mitra

93, Thenew station constructed and established
by India in March, 2012 for scientific research in
Antarctca is called

{A) Pryadarshini

(B) Bharati

(C) Maitri

(I3) Dakshin Gangotri

93. Hydraulic press is based on
(A) Archimedes law
(B) Pascal's law
(C) Reynold’s law
(D) Bernouli's law

94, A person on a swing stands up. The time
period of the swing

{A) increases

{B) remains the same
(C) decreases

(D) becomes zero

95, Who was the editor of the nationalist
newspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta
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96. The largest IT company in India is (as of
June, 2021)
(A) Wipro
(B) HCL Technology
(C) TCS
(D} Tech Mahindra

97. The confluence of Bhagirathi and
Alakananda is located at

(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Allahabad

98. Which Muslim general conquered Bengal
in the thirteenth century?

(A) Timur

(B) Iqtiaruddin Bin Baktiar Khilji
(C) Chenges Khan

(D) Abdur Rahim Khan i Khanan

99. The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
{D) Goutam Bhadra

100. Ibn Batuta came to India during which
rulers’ reign?
(A) Akbar
(B) Sher Shah
(C) Muhammad Bin Tughlag
(D) Alauddin Khilji
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101. Who was the Chief Guest of Republic
Day, 2021 in India?

{A) President of Sri Lanka
(B) PM of Bangladesh
{C) King of Bhutan

() None of them

102, To which following movement is the term
‘ulgulan’ associated with?
(A) Munda uprising
(B) Santal uprising
(C) Kol uprising
(D) Gurkha uprising

103. Gandhiji was influenced by
{A) Tolstoy
(B) Dickens
{(C) Marx
(D} Lincon

104, Inter-state council 18 formed by the
(A) Prime Minisler
(B} Parliament
(C) Chief Justice of India
(D) President

105. Who among the following freedom fighters
did not belong to revolutionary (militant)
nationalism?

(A) Veena Das

{B) Santi & Suniti
(C) Matangini Hazra
(T Kalpana Datta
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106. The variability of rainfall during August in
India would be more pronounced generally at

{A) Kolkata
{B) Ranchi

(C) Jodhpur
(D) Lucknow

7. The following coastal area of India was
affected by "‘Hudhud Cyclone’ :

(A} Chennai coast

(B) Kerala coast

{C) Andhra coast

(D) Bengal coasl

108. The Election Commission is constructed
by the

{A) Vice-President

(B) Prime Minister

{C) President

(D) Chief Justice of India

109. Dry ice means
(A) Tce at-23°C
(B} Tce at4°C
(C) Solid SO,
(D) Solid CO,

110. Largest wind farm of India is located in
(A) Tamil Nadu
(B) Andhra Pradesh
(C) Maharashtra
(D) Gujarat

106. ST E15PG W IFeAATes OrRes AyHeTe
wfEs B 5
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111. The freezing chest in refrigerator is kept
near the top because

{A) it is convenient to use,

(B) it reduces cost.

(C) it cools the remaining space by the
process of conduction.

(D) convection currents are set up.

112. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

{A) Raichak

(B) Falta

(C) Kakdwip

(D) Haldia

113. The responsibility for printing currency
notes in India lies in the hand of

(A) Ministry of Finance
{B) Prime Minister's office
{C) Reserve Bank of India
(D) State Bank of India

114. Who was the Governor General of India
when Gandhiji initiated Civil Disobedience
Movement?

{A) Lord Hardinge
(B) Lord Minto

(C) Lord Linlithgow
(D) Lord Irwin

115. Indiaisa
{A) Union of states
(B} Federation
(C) Confederation of states
(D) Unitary
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116. The Partition of Bengal was annulled in
(A) 1905
(B) 1911
(C) 1901
(D) 1947

117. Members of the Public Accounts Committee
are elected by

(A) President

(B) Speaker

{C) The members of the both Houses of
Parliament through the method of
proportional representation by single
transferable vote.

(D} Prime Minister

118. Which Indian Nationalist Leader is known
as ‘Grand Old Man of India’?

{A) Badruddin Tyabji
(B) Surendranath Banerjee
(C) Gopal Krishna Gokhale
(D} Dadabhai Naoroji

119. In India, topographical map is published
from the following organization :

(A) NATMO

(B) GSI

(Cy 501

(D) ZS1

120. Infllation is
(A} one time price level rise.
(B) increasing profits in production.
(C) increase in deficit financing.
(D) continuous increase in price level.
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121. The waves produced by motor boat sailing
on water are

(A) transverse

(B) longitudinal

(C} longitudinal and transverse
(I stationary

122. Pakistan Resolution was taken on
(A} 16th August 1946
(B} 26th January 1935
(C) 14th April 1942
(D) 23rd March 1940

123. What was the original name of Titumir?
(A) Syed Amanullah Khan
{(B) Syed Mir Nasar Ali
(C) Syed Amir Ali
(D) Syed Mir Mubhammad Khan

124, New Delhi, the new Capital of India was
maugurated by Lord Trwin in the year
(A) 1905
(B) 1911
(C) 1931
(D) 1947

125. When did Sakabda commence?
(A) 78 AD.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 AD.
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126. Sharavati Hydroelectric Project is located
in:

(A) Kerala

(B) Karnataka

(C) Maharastra

(D) Madhya Pradesh

127. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 20207

(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Raina
(D} Rohit Sharma

128. _ is called as “His Superfluous
Highness”.

(A) The President
(B) Vice-President
(C) Governor
(D) Speaker

129. Who is the author of Allahabad Pillar
Inscription?

(A) Rudradaman

(B) Harisena

(C) Samudragupta

(D) Banabhatta

130. Solder used for joining metal parts together
is an alloy of
(A) Feand Cu
(B) Fe and Zn
{C) Snand Cu
(D} Snand Pb
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131. According to the Census of India 2011,
which one of the following Union Territories had
the highest sex ratio?

(A) Chandigarh
(B) Puducherry
(C) Lakshadweep
(D) Daman and Diu

132. Which commodity tops the current list of
imported commodity of India?
(A) Gold
(B) Platinum
(C) Petrolium products
(D) Petrolium crudes

133. Whatisthe maximum Government Subsidy
that can be availed by a beneficiary under the
Gatidhara Scheme?

(A) Rs. 50,000

(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

134, When was the First Industrial Policy
resolution taken?

(A) 1956
(B) 1947
(C) 1948
(D) 1951

135, The solar cooker works on the same
principle as

{A) Bolometer

(B) Pyrometer

(C) Greenhouse

(D) Solar PV cell
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136. Government of India passed the Act to
protect the human rights in the year

(A) 1990
(B) 1993
(C) 1995
(D) 2002

137. Mansab means
{A) A rank or office
(B) A military general
(C) A grant of revenue free land
(D) A religious text

138. Judges of Supreme Court retire at the age of
(A) 60 years
(B) 62 years
(C) 65 years
(D) 70 years

139. Kurnool-Kudapa Canal is taken off from
the following river :

(A) Cauvery
(B) Krishna

(C) Tapti

(D) Tungabhadra

140. Central Rice Research Institute is located
in

(A) Cuttack
(B) Dhanbad
(C) Kanpur
(D) Coimbatore
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141. The binary equivalent of decimal number
4625 is
(A) 100-001
(B) 100-110
(C) 100-101
{13 100-011

142, Who was involved with the ‘India
Independence League’?

(A} Deshhandhu Chittaranjan Das
(B) Mahadev Govind Ranade

(C) Ananda Mohan Bose

(1>} Rashbhihari Bose

143, President of India is elected by
(A) Members of the Parliament.
(B} Members of the State Assemblies.
(C) Directly by the people.
(D} Both the Houses of Parliament along

with the Members of the State
Assemblies,

144, What was the major symbol of Mahatma
Gandhi during his non-violent freedom struggle?
{A) His looking glasses
{B) His charka (spinning wheel)
() His walking stick
(D) His cap

145, If the length of the filament of a heater is
reduced by 10%, the power of the heater will

(A) increase by about 9%

(B} increase by about 11%
() increase by about 19%
(DD} decrease by about 10%%

-27

MTS/21

141. Wi 7220 4-625-49 AEF (Binary) 9%
&

(A) 100-007

(By 100-110

(C) 100-101

(D) 1004011

142, I Ifersmes As-ag Ao @ wfies
Bl
(A) oy Toaase vt
(B) wElwe (siffaes aivme
(C) = CEE o
(D) ==

143, wfae AEa Fefive =
(A) ~ABTTIsa Awse widl |
(B) A Ratersi s Ame 9 |
(C) TWoTe= 9T 4TFFEA |
(D) SAETETed e 7w A9 AiE FHwTel-
EPeERe R CERE

144, =z nifeE =prrate SitwEe 9u 28 &
f2m s

(A) & s

(B) fF b=

(C) o =fg

(D) & T

145. 9= E67ae =nag e 10% T, Zhiss
S|
(A) SIS 9% a6 |
(B) SIfgaifas 11% 1G0T |
(C) =i 19% e |
() =EERE 10% <500 |

Please Turn Over



#
MTS/21

146. Shanti Swarup Bhatnagar Prize is awarded
in the field of
{A) Peace
{B) Science and Technology
(C) Medicine
{D) Economics

147. The recently much talked about “toolkit” 15
basically
(A} an e-commerce platform for online
transaction,
(B} 4 social media site meant for hackers.
(C) adigital equivalent of pamphlets and
fliers that helped maobilise protesters.

(D)} an assemblage of sophisticated
electronic gadgets.

148. Rescarchers has discovered recently
antibady of which virus in bats from Mahabalaswar
cave?

{A) Nipah
{B) Ebola
(C) Covid 19
(D) Zika

149. A boat floating in a tank is carrying some
passengers. If the passengers drink water foom the
tank, how will it affect the water level of the tank?

(A) It will go down.
(B} It will rise,

(C) 1t will depend on the atmospheric
Pressure.

(D) It will remain same.

150, Punarbhavaand Atrai are the distributaries
of the following river :

(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak
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151. Whom among the following historians does
not belong to the Aligarh School?

{A) Anil Seal
(B) Irfan Habib
(C} MNurul Hasan
(D) Athar Ali

152, A pendulum clock that keeps correct time
on the earth, is taken to moon. It will then run

{A) at correct rate.
(B) 6 times faster.
(C) w6 times faster.
(D) V6 times slower.

153. Article 21 of the Indian Constitution ensues
(A) Right to Religion
(B) Due Process of Law
(C) Right to Life and Personal Liberty
(D) Procedure established by Law

154. Who wrote ‘Poverty'and Unbritish Rule in
India’? '
(A) Ramesh Chandra Dutt
(B) Dadabhai Naoraji
() A. 0. Hume
(D} Amartya Sen

155. How many new Government Medical
Colleges have become functional in West Bengal
during the last ten years?

(A) 8
(B) 6
(C) 5
(D) 3
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156. The names of Sidho and Kanho are
associated with which rebellion?

{A) Chuar rebellion
(B) Sannyasi rebellion
{C) Santhal rebellion
(D} Kol rebellion

157. The chopping of an onion makes one cry
because of the chemical containing

(A) Sulphur
(B) Chlorine
{C) Bromine
(D) Nitrogen

158. Which one of the following sequence of the
Himalayan ranges from south to north is correct?
{A) Karakoram - Ladakh - Zaskar-
Pir Panjal
(B) Ladakh - Zaskar- Pir Panjal -
Karakoram
(C) Zaskar- Pir Panjal - Karakoram -
Ladakh
(D) Pir Panjal - Zaskar -Ladakh "=
Karakoram

159. A spring of spring constant & iSeut into two
equal halves. The spring ¢enstant of each half is
now

(A) k

(B) k/2
(C) 2k
(D) 4k

160. Who had designed the first Indian National
Flag?
{A) Vicoji Rustam Kama
(B} Annie Besant
(C) Sarojini Naidu
(D) Sister Nivedita

156. % s Tweg 7@ @w FEnE 7 wles?
(A) pTe FEmEE
(B) wmmH famE
(C) wtewm e
(D) (F= e

157. Tl 5@ 75 G4 FiF S99 9 95
AAERE, TS UE

(A) AFFE

(B) @IfEa

(C) @fF

(D) “ReGree

158. wfEF (ore Baa R weaig Feffes
AHEE W (G AToF 2
(A) FAMEEE - #1060 - TIFE - Aolem
(B) =W - G - Alaiig - S
(C) =Tl - AT - TR - WL
(D) ARG THT - AW - FECEEE

159. PR 599 k= o3l Fes e 7 Tt
FH, 2felh e ek wae 7=

(A) k

(B) k2

(C) 2k

(D) 4k

160, (FEETET A9 T AT 7w e o
(A) For=iat zrza
(B) =i cawrm
(C) wrafEat wizs
(D) =faa frafre



161, Mukutmanipur Dam is located across the
following river :

(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar

(D) Kangsabati

162. A vehicle covers half the distance with
uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is

Vi +¥p
(A) 3
yt+w
WV
b
Vi =
2w,
¥+

(B)

(&

(D)

163. What proportion of the Insurance Premium
payable for Swasthya-Sathi Scheme is bome by
the State Government?

(A) 50%
(B) 75%
(C) 100%
(D) None of the ahove

164. Started in Jume, 2014 by the Union
Government of India, the ‘Namami Gange’
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

165. Who won the French Open in 20217
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovic
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161. Fsfafae @ sares gghafism dy o=y
(A) FRefeat
(B) w27
(C) 72
(D) TGS

162. @3l *fE 7l wfewre @res W e
vy O3 T e ETS v, W T, s e
oG BE TA

+¥
o L

W +v)

vy
Wik 1
LR ]

)
W+ V)

(B)

(C)

(D)

163. ~Fosas FaEnad FE-A g
T e = A5 HaPE I FE?

(A) 50%
(B) 75%
(C) 100%
(D) Toiza @oE 77

164. 2014 ¥F =F 297 ©EC FEAINA FAH
S’ 2eEis o

(A) *1=IE S

(B) %1 (7% 6

(C) stta el i wegfE

(D) sterg #Afavarers wrom

165, 2021 Fitz w2 ereie =8 o =0
(A) FFES
(B) o HoHem
(C) Trifes GrgreTTs
(D) Gie (aies
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166. The ratio of the diameters of moon and
earth is nearly
(A) 1:2
(B) 1:5
(C) 1:4
(D) 1:8

167. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India is

{A) the Godavari
(B) the Cauvery

(C) the Penganga
(D} the Mahanadi

168. What was the Carlyle Circular and when
was it issued in colonial India?
(A) Adecreetoprevent political gathering
during the World War 1.
(B) A regulation to introduce English
education in schools after 1857,

(C) A decree to restrict use of arms by

Indian citizens of colonial India from
1919 onwards.

(D) Adecreetoprevent nationalist protests:

amongst students in educational
institutions during the Partition of
Bengal.

169. A heavy body and'alight body have equal
kinetic energy. Then

{(A) heavy body has greater momentum,
(B) light body has greater momentum.
(C) both have equal momentum.

(D) both have same angular momentum.

170. Which of the following is not a unit of
distance?

(A) Light year

(B) Parsec

(C) Furlong

(D) IJiffy
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166. 517 @3¢ <{fe T AR AHIFEE S =
(A) 1:2
(B) 1:5
(C) 1:4
(D) 1:8

167. %P ©rares 74 The Te 2 A
s51 | WP ot ==

(A) cotmwraat =

(B) wwast it

(C) Comam

(D) wEf=R!

168. F1izs AidmE F W W © el
TS 27w e
(A) 9= fefEF =1 29w foqqes T
Aetpios A= s @ |

(B) «=lb e =g =2 18572 #ita e
BTG M 25ew 915 |

(C) =5 &l 71 1919-93 <17 @sfarafes
SIS STE I A 7 |

(D) «=f5 &fE @ wm awew Fad
GISHSIAR WWEE SEEaime
EEHEEE (F1Y 919 Sowls (ReT 53|

169. <= =i a5 ¢ 9h zow w7 a2
sifeifE =z | o
(A) o 7%e wie waras Y|
(B) === 9% wits Sarasl Y=d |
(C) 767 Sarast 7@ 23 |
(D) %ioe @32 Ffie S2ras Uz |

170. F5a W04 (0 F20ge Gaw T
(A) ey
(B) #ar=
(C) el
(D) &



171. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of
(A} Arunachalam Muruganantham
(B) R. Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

172. Who was the hero of Rampa Rebellion of
1922-247

(A) Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran

(C) Puli Thevan

(D) Alluri Sitha Rama Raju

173. In the Constitution of India, ‘Protection of
Life and Personal Liberty’ is guaranteed under
Article No.

(A) 21
(B) 49
(©) 73
(D) 370

174. Dilatometer is used for the measurement of
(A) electrical energy
(B) mechanical energy
(C) dimensional change in material
(D) thermal energy

175. The Nayankara system is associated with
(A) The Bahmani Kingdom
{(B) The Chola Empire
(C) The Maratha Kingdom
(D) The Vijayanagara Empire
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171. 2018(% 4f& «irewt ‘smeus B G b
G FE) Go Ty, ol wem

{A) Arunachalam Muruganantham
(B) R. Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak

172. 7= ez w5 o farem (1922-24) ¢
(A) THGA DI #iFGe]
(B) fewran gtz
(C) = (e
(D) el et A wtg

173. ©Emer #Rye e, S e afesrs
FETeE TEwa A T @ 9

(AY21
(B) 49
(©) 73
(D) 370

174. TemtbifinE (Dilatometer) T3 #Afwis
Gl TR
(A) wiee *fE
(B) affis =fe
(C) ez WS #Eada
(D) = =fe

175. A% a7 (I 208 FS TS FA 7S 7
(A) g FE
(B) (517 FETE0
(C) st arem
(D) Remem AmE

Please Turn Over
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176. Should seniority be the only criterion for

the promotion?

Argument: 1.No: It would be an injustice to
those juniors who are

deserving and suitable for
than senior

promotion
counterpart.

2. Yes: Otherwise senior employees
may feel humiliated.

3. Yes: Senior employees are more
experienced and must be
rewarded for the same.

(A) Only ‘1" is strong.

(B) Only ‘1" and ‘2" are strong.
(C) Only ‘1" and ‘3" are strong.
(D) All arguments are strong.

177. Exclusive Proposition: Which s the correct
option?
If a person is rich, he has lot of influence.
{A) Alok has a lot of influence, so he is
rich,
(B) Ifapersonis notrich he does not have
a lot of influence.

(C) Tapas is rich and so he has a lot of
influence,

(D) Poor people cannot have influence.

178. Given set (7, 77,140) then follows
(A) (9, BE, 180y
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

179. How many times do the hands of a clock
coincide in a day?
(A) 24
(B) 20
(C) 21
(D) 22
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176. 237 (Seniority) & oiamlen awam «é
a7 Bpw e
e : 1.7 ¢ b T 2 st 7=
A WAl SITE 2T TS
(S G2 TR BT YT |
2. %7 W) 2de I oS
TEETS AT A |
3. 31 3 Bfe R wew g G
CHAE % HTHET ief |
(A) “1" 797 A =i |
(B) (9 ‘1" & 2" 797 2 eiraren |
(C) @3 ‘1’ & 3" F5% =M oy |
(D) = gfes et |

177. @ =Te 441, o1 Siwe 2o wig |

ATETE AT @D A

(A) S ST 2Sl4 STE S (57 44|

(B). 1 e 2 ) 1) 23 wrd ©ig Wi
AT AT Al |

(C) O+ 4l @23 O T e 2efd
g |

(D) Wi afEa gem e #iE =1

178. (7, 77, 140)— €& 6% wepras 2 e
e Twal Fiden o2

(A) (9, 88, 180)

(B) (6, 66, 120)

(C) (8, 80, 166)

(D) (4, 10, 160)

179. st wwa7 wfea S5 4f5 raig fre ame
(A) 24
(B) 20
() 21
(D) 22



180. Today is Thursday, the day after 59 days
will be

(A) Sunday
(B) Thursday
(C) Friday
(D) Saturday

181. Exclusive Proposition: Which is the correct
option?
Many smokers get cancer.
(A) Cancer patients are smokers.
(B) Most smokers get cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

182. ‘School’ is related to *Student’ in the same
way as “Hospital® is related to

{A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

183. A building which is 64 feet high cast a
shadow of length 96 feet. The heightof telephone
tower, which cast a shadow of length L80 feet,
under similar condition is

(A) 80 feet
(B) 100 feet
(C) 120 feet
(D) 90 feet

184. Atrainis 150 mlong. Itis running ata speed
of 41 kmph. A man is running at 11 kmph in the
same direction as the train. In what time will it pass
the man?

(A} 18 seconds

(B) % seconds

() ﬁ seconds

(D) % seconds
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180. =ite g=ifears == 59 R «ita 9 = =a e
(A) FfFame
(B) gz=ifear
(C) sFa=
(D) ===

181. ST= YA e 27 |
ST 5A @ AGEE
(A) T AT gaend |
(B) (Af=(s La=iiwa FIFeg =2 |
(C) *mei Frmiicaa e afsma e «ma )
(D) €F¥W FIFHR ATH wfeae |

182. *School @ ‘Student’ 78,974 ‘Hospital #
At
(A) Medicine
(B} Nurse
(C) Doctor
{D) Patient

183. 64 T5 T <& arfeq gara tdf 96 F6 | 4
@ =76 180 %5 @b G Sremaa e i
G-I

(A) 800
(B) 10035
(C) 120%5
(D) 90 %5

184. w2 Grmg ™ 150 m| @7 sfferas
4] kmph | €% & 11 kmph siferas fra Galea
o (e | @ T Gal & e wfews
FALT?

(A) 18 seconds

3 :
(B) 10 seconds

(C) ﬁ seconds

(D) % seconds
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185. What is the missing number?
1,2, 10, 37, 101, 2
(A) 320
(B) 226
(C) 206
(D) 402

186. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A) T0%
(B) 68%
(C) 73%
(D) 64%

187. Mohan takes 6 hours to do a job. Laltu takes
10 hours to do the same job. How long should it
take if Mohan and Laltu work together the same
job?

|
(A) ].E hrs.

{B) 3% hrs.

(©) 2% -

(D) 3% by

188. Choose the word in the option that is farthest
in meaning to the capitalised Word.

WINSOME

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE

(D) OPPOSITION

189. Naseer started from ‘X’ point and walked
straight 5 kms west, then turned left and walked
straight 3 kms and again turned left and walked
straight 7 kms. In which direction is he from point
‘X'?

(A) South-East
(B) North-East
(C) North

(D) North-West

185, ‘7' ofers g =i wey Ta e
1,2,10,37,101, 7
(A) 320
(B) 226
(C) 206
(D) 402

186. 15002052 w047 480% NCC-(8 7 7ige
TR | TS #EIH TN AleE g [

(A) 70%

(B) 68B%

(C) 73%

(D) 64%

187, % O30 =G Fa0T 6 91 7T (77w, FEG
T 1091 | €71 QL VED FALS FE I (A ¢

1
(A) 15 L)
.3
B) 3w
(@23 w5
(D) 33 Wi

188. ‘WINSOME' *i#%f64 7asra 1aad! wel agw
TR A (e = ¢

(A) INSIPID

(B) UNATTRACTIVE

(C) PREJUDICE

(D) OPPOSITION

189. =i ‘X famy (ot w1t s =02 (v <AfsT
5 km (571 | SreE AW e 9@ G 3 km @9
S AW 0 O3 @ 7 km it | 927 G X
e % @ e =i e

(A) wiiss-of

(B) Twa-o¥

(C) T&m

(D) Twa-+ifa
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190. Should the number of holidays of
government employees be reduced?

Argument: 1. Yes: Our government employees
are having the maximum
number of holidays among
countries of the world.

2. Yes: Itis a sign of British legacy
which should be carried
forward.

3. Yes: It will speed up work and all
pending jobs can be
completed well in time.

4. No: Employees must be given

ample spare time to spend
with family.

{A) Only *1" and 3" are strong.

(B) Only “I’, ‘2" and 3" are strong.

(C) Only 2’ is strong.

(D) None is strong.

191. Today is Monday, after 61 days it will be
(A) Wednesday
(B) Saturday
(C) Tuesday
{D) Thursday

192. A ladder is kept against a wall. The top of
the ladder touches the wall at a height of 270 cm
from the ground. The base of the ladder is 34 cm
away from the wall on the ground. Find the length
of the ladder.

(A) /53682 cm.
(B) J68164 cm.
(©) 75816 cm.

(D) /82547 cm.
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190. FEiE wbEime gba e S wamehe

T 2 1,200 2 TS e (e R i
Faafa aufbiataiE wame
g6 (AT U |

2.3 3 @t &b TwalewEs oFh
% 9 959 =02 W I
3. 371 3 &b e 5@ 4o @9 B
offes| FrEefE T oF 7a )
4.7 ¢ “faamas Aty WYT AT
FHIIE & S 9t
e Bibw |
(A) @ ‘18 3" @ e |
(B) (&4 ‘1",2 @3 'Y & e |
(C) et 42" cafe e |
(D) Eeioe SE 3 |

191, wie (AEE =5 61 Fa <19 Ftam w9
(A) F¥91F
(B) #f=a
(C) TH#aR

(D) gz=ifeam

192, 9% W& MeTTE WE FAr W | 2
wargls M (A 270 cm THEE HEAHADBLE i
T | TEed AW (weUE (ATF 54 cm WA
wafEs | WBfha Twel et

(A «sz cm.
(B) /68164 cm.
(C) /75816 cm.
(D) /82547 cm.
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193. Pointing to a gentleman, Somenath said
“His only brother is the father of my daughter’s
father”. How is the gentleman related to Somenath?

(A} Brother-in-Law
(B) Uncle

(C) Grandfather
(D} Father

194. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs, If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
(D) Rs. 400

195. Exclusive Proposition: Which is the correct
option?
All students are not genius.
(A) Every student is not genius,
(B) Many students are not genius.
(C) Many students are genius.
(D) Every non-student is a genius.

196. ‘DUMA’ is related to ‘Russia’ in the same
way as ‘ECCLESIA’ is related to

(A) Bhutan
(B) Afganistan
(C) Greece
(D) Germany

197. Given set (8, 3, 2) then follows
{A) (168, 15, 6)
(B) (95, 24, 5)
(C) (63,8, 3)
(D) (15,6, 5)
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193. €% SHEFRISE @HEE EEAY 0, 6
G ©fF 7F G (ED 99| 9h07 | SeEee
IS Greies B 7o 7

(A) =&
(B) =
(C) fererrz
(D) =r=t

194, 0% 10 951 100 #ierg 9= e 5Eef
FATE #fta =E 29 G TS 15 9% 8 Fare «Ang e
ST 5 WGl FG e | 1fF wwh G5 2 9%"
ol TE | T & FEhE G A G 2,400 B
A, &4 A T AN e

(A) 3000

(B) 250 5/t

(C), 200 Bl

(D) 400 5

195, A EEE =fsemm 79 |
GrETE 5T @A Awe
(A) #rerel ge fsemm 7|
(B) =it wfEz Afestam 77 |
(C) o= glag Afeeta |
(D) A BE 3 SHE oeies Afeera |

196. ‘DUMA’ ¥f7 ‘Russia’ 23, 973 *ECCLESIA’
F A

(A} Bhutan

(B) Afganistan

(C) Greece

(D) Germany

197. (8, 3, 2)— 9% 5% wprad w0z Mpe whiw
Al T 39 |

(A) (168, 15, 6)

(B) (95, 24, 5)

(C) (63,8, 3)

(D) (15, 6, 5)



198. Pointing towards a girl in the picture,
Meghna said, “She is mother of “Jhuma’, whose
father is my son”. How is *Meghna’ related to the

girl in the picture?

{A) Mother

{B) Aunt

{C) Cousin

(D)} Grandmother

199. What is the missing number?

200.

32,19.8, 1
(A) 3
(B) 12
(C) 5
(D) 1

The ratio of & inch to 4 feet will be
(A) 1:6
(B) 1:4
(c)y 3:2
Dy 1:8
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198. &fare 9= EETE (R Grae! 2= e, ' 2
e e e e B T 1 e e
(TS B HAF

(A) =

(B) il

(C) 4Tgrel &=
(D) =i

199, ‘7" fers Fm = A Ay
32,198, 7
(A) 3
(B) 12
(C) 5
(D1

200. 6% 8 4 FHI T Fe
(A) 1:6
(B) 1:4
(C) 3:2
(D) 1:8



